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Prototype Cs4F10Mg3

AFLOW prototype label A4B10C3 oC68 64 2f e2fg af-001

ICSD 16084

Pearson symbol oC68

Space group number 64

Space group symbol Cmce

AFLOW prototype command aflow --proto=A4B10C3_oC68_64_2f_e2fg_af-001

--params=a, b/a, c/a, y2, y3, z3, y4, z4, y5, z5, y6, z6, y7, z7, x8, y8, z8

Other compounds with this structure
Ba4Ir3F10, Ba4Mn3O10, Ba4Ru3O10, Ba4Sn3O10, Cs4Fe3F10, Cs4Ni3F10, Cs4Zn3F10, Rb4Mg3H10, Sr4Mn3O10, Ba4Ti2PtO10

Base-centered Orthorhombic primitive vectors
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4c ẑ (8e) F I

B7 = −y3 a1 + y3 a2 + z3 a3 = by3 ŷ + cz3 ẑ (8f) Cs I
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(
z3 + 1

2

)
ẑ (8f) Cs I

B9 = −
(
y3 − 1

2

)
a1 +

(
y3 + 1

2

)
a2 −(

z3 − 1
2

)
a3

= 1
2a x̂ + by3 ŷ − c
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ẑ (8f) Mg II

B25 = −
(
y7 − 1

2

)
a1 +

(
y7 + 1

2

)
a2 −(

z7 − 1
2

)
a3

= 1
2a x̂ + by7 ŷ − c
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B28 =
(
−x8 + y8 + 1

2

)
a1 −(

x8 + y8 − 1
2

)
a2 +

(
z8 + 1

2

)
a3

= −a
(
x8 − 1

2

)
x̂− by8 ŷ + c
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ẑ (16g) F IV

B34 = − (x8 + y8) a1 − (x8 − y8) a2 +
z8 a3
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